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IMPORTANT INSTRUCTIONS

1. This Question Booklet contains 100 questions in all.
2.. All questions carry equal marks.
3. Attempt all questions.
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Question Booklet and ensure that the Question Booldet’ Series is printed on thedtOP,_ &
right-hand corner of the Booklet and the Booklet contains 20 printed pages a;_n tri:" '
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this Booklet, get it replaced immediately by a complete Booklet of the same s.eﬁes._; i
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comprises four responses—(A), (B), (C) and (D). You are to select ONLY ONE correct response
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of your choice for each question. Select one response for each question in the Question
Booklet and mark in the OMR Answer Sheet. If you mark more than one answer for one
question, the answer will be treated as wrong. Any erasure or change is not allowed.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the OMR Answer Sheet out of the Examination Hall during
the examination. After the examination has concluded, you must hand over your OMR

Answer Sheet to the Invigilator. Thereafter, you are permitted to take away the Question
Booklet with you,

11. Failure to comply with any of the above instructions will render you liable to such action o
penalty as the Commission may decide at their discretion.
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1. Let the notation F, denotewi
. partial derivative of F R
respect to x, etc. If 1, j afl

denote  the unit ve:}tic:;?.
perpendicular to each other,

then the unit normal to tIII:t:
surface z=F(x, y) at the po
%, y) is given by

B) -Fid+Fyj-R)/
L+ ()2 + (F,) 22

(C) -(Fi+Fyj+F,K)/
(14 (F,)2 + (F,)2)2

D) ~(F.i+F,j+1k)/
L+ () +(F,)%)/?

2. let a river flow in the Y
direction. Let the z-axis be along
the width of the river with total
width d. Then 4 possible
function describing ‘the velocity
of ‘the river is V=az(d-z)?,
where g is 2 constant. A leaf

floating in Such a river a¢ a

distance d [4from a bank of the
river will

(C) float ang 'turn'clockwise or
anticlockwige

(D) float ang turn 'anticlockwise
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e velocity of
1 of th
e cur

3, Thti le moving in a circle wity
artic ‘
Eonstant speed 1
(A? ZEro

ortior_lai to the angu}a1
) Eéﬁaiity and in the planegs
the circle
¢ proportional to the angulay
. velocity and perperufhcular
to the plane of the circle
(D) continuously Chang:ing
direction  as the' particle
moves along the circle

. If B denotes the magnetic field,

then' the equation divB=(
means that

(A) there is no net magnetic
charge

(B) there is no' magnetic charge
at all

(C) curl of Bis always constant
(D) B is constant

. Fora conservative vector field F

(A) the line integral of F along a
closed curve jg 0 -

(B) the line integral of F along a
closed Curve is constant but
may not be

the line integral of F along a
closed curve is 0, if the
Curve s continuously
differentiable

(D) the line integra] of p along a
closed curve is never O for g

Seécond-order differ_entiabl‘e
curve

(©)



6. f B and E are the magnetic

and electric fields, then the
Faraday's law of magnetic
induction is represented

mathematically by the equation

(A) c2(VXB)=j/eq+0IE/0t
where ¢ is the speed of light
and jis the current density

(B) V-B=0E/dt

(C) VXE=-0B/ot

(D) VxE=4B/ot

7. If r is the radius vector and n is
the normal to the closed surface
AS enclosing a volume AV, then
the vector operator V is given by

(A)
AV—-)O AV ﬁdan

1
im — .
(B) AV=0 AV Asdan T

(€ lim ——j':fda nxr

av-0AV 3%
. . 1
(D} lim — dan
AS-0AS j5
8. The number of linearly

independent rows of the matrix

is
(A) 1
c 2

16/L/34-2015—D
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A linear transformation pre-
serves all lengths, if

(A) its matrix has 0 deter-
minant

(B) its matrix is singular
(C) its matrix is non-orthogonal

(D) its matrix is orthogonal

The matrix
-1 1
4 2
(A) has no eigenvalue
(B) has two distinct eigenvalues

(C). has only one eigenvalue .

(D) is degenerate

A Hermitian square matrix
(A) has orthogonal eigenvalues

(B) may not have any eigen-
value

(C) may not have orthogonal
eigenvalues

(D) has only one unique eigen-
value

Let A and B be nXn matrices

with AB =0. Then

(a) if A has rank <n, B is 0

(B) if A has rank >n, B-is 0

(C) if A has rank n, B=0

(D) B=0

[P-T
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13. The solution to the. défferx:)re.
equation 9yy’+4x.=
sents

(A) a family of straight lines
(B) a family of ellipses

(C) a family of circles

(D) a family of cubic inter-

secting curves

14, A separable first-order

differential equation

(A) does not always have a
solution

(B) has bounded solutions
(C) need not be exact.

(D) is always exact

15. The auxiliary equation for the
Cauchy equation

X2y ¢ @y y by=0
has a doub]e root; if and only if

&) b= a2
(B) b-‘-%(l-a)
©) b==(iq

(D) b=%(l—a)2
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16. The technique of separay,

17.

dimensional heat equatigy,

% _ 20%y/ 0x2)
ot

involves the substitution
ufx, 1) = F(x)G(f)

This yields the systep
differential equations given j,
() F”+ p?R=0;

dG

e 2 g

ar. ¢ Pl
(B)« F"+ p®F'+F =;

ac , .,

— 4 =

g - £ ae]
€ F"+p?F=0

dG 9

at  © PG=0
B) F"-p?F <,

dG 2 9

dr ¢ pP°G=0
The N Neumann boundary
Condition fq, the Laplace’s
*Quation 2, _, on the
boundary B

of a re ion R
Specifies the &

(B) totay derivatiyeg of u on B
(C) Green’s function for 4

(D) Normag) derivative ofuonB



18, If u is a function of x, y and

19,

20.

2z, and satisfies the partial
differential equation

ou ou ou
-2 +z- xla—y'+(x-y)gz- =0

then u is of the form given in

(A) u=fix+y, y*+2?)
B) u=flx+y+z x?+y?+2?)
€ u=flx+y-z y*+2z*-x?

D) u=flx-y-z x*+y?+2?

In case of R-L-C electrical
circuits, the case of under-
damping occurs, when

() R2=3
C

(B) R? 3L
¢

© R2<3E
c

(D) R?=4LC

The function f(z) =Ilnz has

(A) infinitely many branches
with branch point O

(B) finitely many branches with
branch point 0

(C) finitely many branches with
branch point i

(D) PO branch point
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For the point z=g inside g
simple closed curve C, the
integral around the curve C

f

fornz2

(z-a)"

is

(A) n

(B) 2nin

(C) ndependent of n
[y

For an analytic function f(z)on a
circle C-with centre at a, the
mean of f(z) on C is

&) 21
B, 57
€ o

) f@

The second term in the Laurent
series expansion of

1
-3)sin——
4 )sz+2

about the point z=-2 is

A - (2 +52)2
B -—>

e (z +52)3
o) (z +52)2

[P.T.C



24,

25,

26.

The integral
o0 Sinxdx
0 x

is

(A)

(B)

Na 2

(C) mi

(D) None of the above

An integra] of the form
[2% F(sing, cos 6)d6

Is usually evaluated by using
the Substitution

A) z=¢r
B) z=¢"
C) z2=x+i
Y
(D) z=e®
If five coins . are tossed

simultaneously, the probability

of at least one head turning up
is

31
(A) %)
1
(B) =
15
(C) )
S
(D) 35

16/L/34-2015—p

27. The distribution With q

28.

29,
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i g
flx)= E_*_-t-z-

for a<x<b and Flo) =

outside the interyy , ' If
H

the variance & 9
(b-q° b-q

(A) T (B) BT
bia (b~ g2

Let X be a norma] Tang,
variable with mean |, g
variance o2, then the x}aﬁah
aX +b with a#0 is

(A) normal with variance p,2
(B) normal with variance g2,

(C) non-norma]

ons with Variap,
b“c

Poisson
distribution with A = np can be

used as gn approximation for
binomia] distribution, if

(A) both n ang p are large
(B) n is large and p is small
(C) both n ang p are small

(D) n is small and p is large



30. If agi Gy ***»Gm and by; by, ***: by
are given numbers, then "the
iteration for the linear m-step

method is given by

(A) agy; —AYi-1+ - £OnYi-m

= h[bofi —biﬁ'-l'*'“':tbmifi—m]
i= ml m+‘1) es

(B) aﬂboyt' - albly,-_l +..% a.mbmy,—_m

= hlagbo f; - by fi +"'ia1nbmﬁ—m]'
i=m, m+1 .

(C) Go¥i +@Yi-1+t .+ +mYi-m

= h[bo_f, + bl.fi—l +...+ bﬁlfi-m]’
i=m, m+1],...

(D) agboy; +abyi-1+ -+ ambmYi-m

= Ih[aﬂbo,ﬁ' + alblfi—l +"-+ambmfi-m]:
i=m, m+1 ..

31. The maximum consistency order
of the m-stage

(A) implicit linear multistep
method is 2, while for the
explicit linear multistep
method, it 1§ 2m—1

(B)" implicit linear multistep
method 1s om -1, while for
the explicit linear multistep

method, it is 2m

(C) jmplicit and explicit linear
multistep methods is 2m

(D) implicit and explicit linear
multistep methods is 2m -1
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32, The discrete time equivalent of

33.

34.

the Laplace transform

(A) does nof exist

(B) is the z-transform

(C) isthe F ourier transform

(D) is the Hanlkel transform

The region of convergence of the
z-transform < must contain the

unit circle for

(A) stability

(B) causality

(C) stability and causality

(D) None of the above

The continuous analog of the
power series in which the
discrete parameter is replaced
by a continuous parameter 1S

given by the

(A) z-transform

(B) Fourier half-wave functions
(C) Laplace transform

(D) Fourier full-wave functions

[P.T.O



35. Letf:(q b)—Rbea teaIfVﬂl“:ﬂ
function defined on an OPbB
interval [=(g b). Let f h;
differentiable at a point ¢ of the
interval I. Let T be the tlalng'fﬂt
to the-curve y = f(x) at the point
¢ with derivative f'd. The
difference in the y-coordinate of
the tangent T at the point x = ¢
and a point x=d > ¢ is
@ fio B) flod-g
© F@d-ad D) frope-q?

36. A particle moves from A to B

with an ever-increasing speed.

Its motion describes a curve (

on a distance-time graph. Then

Bt some point op the curve ¢

(A) the tangent is Parallel to the
distance or time axis

(B) the tangent ig parallel tg the

chord AB

(C) the tangent does nof exist

D) the tangent < jg Perpen-
dicular tq the chord AR

The CQuation  satisfieq by an
idea] Bas" with pPressure P,
volume .y at the temperatyre T

is py 2T where R is 4
constant. The to

37.

ta] diﬂ'erential
is
R RT
A" g
(A) VdT ‘Vzdv
B _RT
B) Rvgr Szdv
2 RT
R RT
D)y =
(D) VdT+E/_§'dV

16/1/ 34-2015_p

38, The critical point Of‘the"ﬁ-lh

39, The Parseval’s formylg

Page 8
%

is

(A) maxima:at (0, 0)
(B) minima at (0, Q)
(C) non-existent

D) saddle point at (0, g)

for 4.
Fourier coefficients of g fllnctid.l

[ gives

(A) the Fourier coefficient i
terms of f

(B) the square of the Fo-ul‘ie]
coefficients

(C) the product of

the Fourier
coefficients

(D) the sum of

the Squareg of
the Fourier

Coefficientg

+ The integra

stinx
b4

X

(B) conditiongayyy, Convergent
(C) divergen



41, Confsider the following circuit :

150
— M
ul
20V = 108 %m
B

What should be the value of
resistance R in the above circuit,
if it has to absorb the maximum
power from the source?

(a) 25Q (B) 189

(C) 9Q (D) 6Q

42. For the two-port hetwork shown
in the figure below, what is the
voltage transfer function?

4 H

o— mm__‘]j_4
VIT SQ 2F Ivz
. @,
A) — 1
A 21 Blaazin

S 1
C D
(© 8s+1 (D) 8s+1

43. The  electric flux and field
intensity inside a conducting
sphere 1s

(A) infinite (B) zero

(C) uniform (D) minimum

16/L/34-2015—D

44, The open-circuit =nd shorts
tircuit impedénces of ‘4 Yine age
100Q each. Whit is the
characteristic impedarice of the
Une?

(A) 100Q
(B) 100v2 Q
(C) 508
(D) 5042 ©

45, A 500 distortionless trans-
mission line has an inductance
of 0-25puH/m. What is the
capacitance per-metre?

(A) 1072F
(B) 10°F
(C) 1071°F
(D)s'Zero
46. z and Laplace transforms are

related by

gl
(A s=77

T
B) s=—
B) s Inz
(C) s=Inz
(D) s=2
47. The Fourier series representa-
tion of a periodic current is

[6+ 72 cos wt+ J12sin2wt]

The effective value of the current
is

(A) (7+412) A
(B) (6+7+2) A
(C) 121 A
D) 11 A

[P.T.C
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48, A signal x(g)sﬁcosw’g 'I{:
sampled at the rate of 12 'z.thé

recover the original 8‘8"91'.&
cut-off frequencies of the 1de
low-pass filter should be

(A) 5Hz < f, <9 Hz
(B) §Hz< f, <8Hz
(C) SHz< f, <7Hz
D) 7Hz< f, <9 Hz

49. The full-load copper loss and

iron loss of a transformer
are 3200W and 2000W
respectively, Both of the losses.
at half-load will be respectively

(A) 1600 W and 1000 W
(B) 1600 W and 2000 W
(C) 3200 W and 1000 W
(D) 800 W and 2000 W

SO. The open-cifeuit test result gives

200V, ©0A, 5kW on low-
voltage 'side of a transformer
whese  rating is 100 kVA,
1100/220 V, 50 Hz and 1-phase
with 2000 turns on high-voltage
side. The core loss component of
Current is approximately

(A) 227 A
(B) 454 A
(C) 91 A
(D) 54 A

16/L/34-2015—D
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51.

52.

53.

54.

Page 10

g5 A current is drayp i
20V dec motor vy ¥
<. of 110V What wj) h

. gk

Jue of armature resjgi. -
y.a.l.ue tor? aheﬁth
this moLo | of
(A) 408 Bl 0.4q

Which motor should not be .
for centrifugal pumpgp  eeq
(a) Cumulatively compound
(B) Shunt

(C) Series

(D). Differentially compoy g

The no- &M power fae
inductfon motor ig low

(A) small slip

(B) high starting current
€ low Starting torque

(D) large magnetizing Current

A 3-phase, 400 Vv,
synchronous motey
at 50% load. In cage
In the field current o
causes a reduction jn the

armature current, it cap be
concluded that

(A) the motor js delivering
reactive power to the mains

the motor is absorbing
reactive power from the

tor of
an.
due to itg

S0 H,
is working
an increasc
f the Motoy

(B)

mains
(C) the motor is neither
absorbing nor delivering

reactive power

(D) None of the above



55. The torque angle,§is defined as

the angle between '

(A) stator field axis
resultant field axis

(B} rotor field axis
resultant field axis

(C) stator field axis and rot
field axis otor

and.

and

(D) stator field axis and mutual

field: axis
56. In a salient-pole synchronous
generator connected to an
infinite bus bar, the maximum
power is delivemrd as power

angle

(A) 5 =90°

(B) 8=0°

(C) 45°<8d<90°
(D) §=45°

16/1/34-2015—D .

59, For a short transmission line 29¢ 11
with R/ X ratio equal to 1, the
voltage regulation will be zero
when the load power factor is

(A) unity
(B) 0707 leading
() 0707 lagging
(D) ©O° lcading
60. In a string of suspengion

insulators, the maximum
voltage appears

(A) across the.init nearest to
the conductor

(B) in the middle unit

(C) aetoss the unit nearest to
the cross arm

(D) None of the above

61. An impedance relay is

(A) current-restrained over-
voltage relay

(B) current-restrained direc-

tional relay

(C) voltage-restrained direc-
tional relay

(D) voltage-restrained over-

current relay

[ P.T.C



63,

64,

65.

For the protection 0f n;ny the
tranBmission lines, norm
preferred relay. is

(A) reactance relay
(B) ohm relay
(C) mho relay

(D) impedance relay
The steady-state stability limit of
& transmission line

(A) increases with the increasc
in length of the line

(B) decreases with the increas®

in length of the line

(C) decreases with the increase
in load angle

(D) increases with the increase

in load angle

In order to have lower cost of
electrical enérgy generation

(A) the load factor should be
low and the diver sity factor
should be high

(B) the load factor and diversity
factor should be low

(C) the load factor and diversity

factor should be high

(D) the load factor should be
high and the diversity factor

should be low

16/L,/34-2015—D 12

66.

67.

68.

.con

. Page 12
Icakage remstance g

50 km long cable.is 1 Mg gf
100 krn long Cab]'er lt wﬂl G@

- Q [B) 0.y ¥
(A) O.QSM ) OS'M'Q

o roMe B 20

maximuim demand
qumer is 20 kW ah-an
daily energy cons,umptiu K

The

90 units. His load factg, i;‘

(o) discharge the voltag,
dead lines to earth

(B] prOVide earthmg
githstation CqU.iments



SV ~ Unity i
elem  whose © ceonck
sfer funcﬁon is OPEn_lODp
S(S+0.2)
Brom a step j

Bir nput, it is raquy:
thsttl Te€Sponse  of ltthliSBTECIUITCd
settles to withi, 2% of 'ts o
value. The Settling time l\sillﬁ%al
(A) 40 s o

(B) 30 s

C) 25s
(D) 4 s

71. The System shown in the figur
€

below. has 3 yn;j
» : ‘unit step input, |
| . In
:)Srcée;‘ tilhat t.he steady-state error
» the value of K required is

”(s) ——
A@ g —ou K
. (025 + 1)(0-025 + 1)2

A) 02 B) 09

(D) 9.0

>Cls)

€ 20

72. The characteristic ‘equation of

a closed-loop ‘eontrol system is
given as s2%4s+16=0, The
wundamped frequency and the
damping factor of this system
are respectively

(A) 4 rad/s and 05

(B) 243 rad/s and 05

(C) 243 rad/s and 0-25
(D) 4./3 rad/s and 0'5

16/L/34-2015—D
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74,

78S.
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The correct sequence of sizps
needed to improve the system

stability is

(A) reduce gain, use negative
feedback and insért
derivative action

use negative feedback,

reduce gain and insert
derivative action

(B

reduce gain, insert
derivative action and use
negative feedback

insert derivative action, us¢
negative feedback  and
reduce gain

(C)

(D).

The maximum phase sﬁift that
can be obtained by using 2 lead
compensator with  transfer

function
 4(1%0-159)
Gels)=770-05s

is
(A) 60° (B) 45°

(C) 30° (D) 15°

The Nyquist plot of a phase
transfer function G(jo)H(jw)
of a system encloses the point
(-1, jO). The gain margin of the
wsystem is

(A) infinity

(B) greater than zero

(C) less than 2ze€ro

(D) zero

[P.T



_ncﬁbﬂ
oy trans®e ol
76, The ope o it ©

system 8 BV%
Kis+4

G(S) a stsﬁ +45% 5)

. es of
The centroid and :t?vgcjly
asymptotes arc i
2 . 0 and "90D
1A} % and +90
® -3

3

B) -3 and +60° and -6

and - 120°

(C) zero and +120°

(D) zero and +90° and —90°

A system is described by the
state equation

. ‘ 1

J.Cl - 20 xl + -Iu

Xq 0.2 X9 l_l
The state transition matrix of
the system is

77'

2t \
e

@ % 0
0. e%
[ 0 eZt'

(B) _-62! 0

-

0 2t
(D) \\821 1]
1 o

16/L/34-2015. p
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78

]

79.

80.

on amInetl Cojp
few tﬁgh%e 14

:stance andl
JoW resist - 'c‘lrge.
o 1,rent-cau'l'}'i g CaPacy@

[ -ir
IC .
g:cause of haviné

(A)

high reSiStance and 1

(B’ ” n_ent_carrying Capacit-ygﬁ

ow resistance and Smg,

O  rent-carying capaciy,

resistance. and Sty

high )

) current-CaITying, capaciy,

n a two-wattmeter method

oWET measurem-ent
3‘phaSe CirCllit,‘ if bOth _
wattmeters’ readings are equg
and positive, the power factq,. e
the cir cuit will be

of

(A)~ Zero

(B) unity

(C) 05 lagging

(D) 0-5 leading

A SmA ammeter having g

resistance 0of9.99 can be ygeq

to measure current u
' Pto5A
using a shunt of by

A) 019
(B) 0.0010
€ 0.019

(D) 0-0099



g81. The range of measurement of
resistance using Wheatstone
bridge method is ideally lying
between ' '

(A) 100 kQ to 10 MQ
(B) 100 Q@ to 10kQ
(C) 01 Q to 100 Q
(D) 0001 Q to 1 Q

82. Generally creeping in an energy
meter is due to

(A) stray.magnetic field
(B) mechanical vibration.

(C) excessive voltage across the
potential coil
(D)

over-compensation
friction

for

86.

83. Input signal is integrated for

duration of 500 clock cycles in a
digital voltmeter. To eliminate
the effect of 50 Hz noise present
in the signal, what is the
maximum clock frequency?

(A) 25 kHz
(B) S50 kHz
(C) 100 kHz
(D) 250 kHz

84. To measure 5 volts if one selects
a 0-100 volt range voltmeter
which is ‘accurate within +1%,
then the error in this

measurement may be up to
(A) £2:5%

B) 3%

(C) £7-5%

(D) +20%

16/L/34-2015—D 15

(where

The output VvOltage V;,
R2 = 2R1) is

By 2Vi, —3Vi

(B) 2V -2V;

(C) 3vi, —2Y,

(D) 3Vil @ 3‘,,‘2

The decrease in eﬂ.'f:ctivc b:rssz
width 'with increasing 1';271 cree
collector voltage-in BJT is

as

(A) thermal runaway

(B) early effect

(C) avalanche breakdown
(D) Zener breakdown

87. An amplifier without feedbac

has a gain of 1000. What is ¢
gain with negative feedback
0:0047?

(A) 4000
®) 2500
(C) 2000

(D) 200



BB, In the dircuit shown i the ﬁ%’t;t_l':
below, the output Y ,BfPl
which orie of the following

)M
Ao | VE_ al
Boe——r L y@a Y
iy
Ar—
_ 5
(A) A+B
(B) A+B
(C) AB+AB
(D) AB

89, The firing angle of thyristor in a
thyristor-controlled rectifier is to
be controlled in the range of
(A) 90° to 270°
(B) 90° to 180°
(C) 0° to 180°
(D) 0° to 90°

90. To reduce -;—; by the use of R-C

snubber; it is used
(A) <n parallel'with the thyristor
(B) in series with the thyristor

(C) either in parallel or in series

with the thyristor

(D) neither in series nor in

parallel with the thyristor
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91.

92.

93'

P
To control the speed of ﬂ‘?.ge 1
3-phaSe cage motor at 25,
the most guitable solid gtat'
will be o
converter

(A) load-commutated inverte,
(B) cycloconverter

(C) voltage source inverter

(D) current source inverter

The ratio cof output ripple
frequency-to the supply voltage
frequency in a 3-phase full-waye
a.c. to-d.c. converter is

(A) 1
B) 3
(€) 6

(D) 24

The anode current 'through g
conducting SCR is 12'A. If its
gate current is made one-third,

then what will' be the anode
current?

(A) Zero
(B) 4A
(C) 9A

(D) 12 A



gA-

95,

96.

The total capacitanee
condensers, when conneétedh‘lo
parallel, is 18 F, and 4 F y,
connected  in seties, T;n
ehpacity of the two Condensere
will be: 8

®#) 3Fandg R

B) 6 Fand 12
C) 4Fand 8 F
(D) 8 F and 16 F

A series R-L-C circuit with
R=3%,  L=200pmy and
C=100pF is connecteq to a
voltage source of 200sin100¢
volts. The power factof of the
circuit will be

(A) unity

(B) zero

(C) leading

(D) lagging

An R-C circuit has an impedance
of (10- j6) Q for the
fundamental. For the third
harmonic, the impedance will be
(A) 10+ j2) @

(B) 10+ j6) Q@

©) (o-j2 Q

(D) (10- ji8)Q

A network has 6 elements and
3 nodes. The number of tree and
co-tree branches will be

[A) 2 and 4 respectively
(B) 4 and 2 respectively
(C) 2 and 6 respectively
(D) 6 and 3 respectively
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98, Inthe circuit sho

99.

40V

100.

i[1]1]

wn in the figure
-be
below, the mn‘gnt, J will
14 Q

2A

(A) 4A (B)
€ 1A (D) zere
The switch of the circutt S;:lrf‘for
in the figure below was 'O}'D b
long time and fx’c t=0, o il
closed. - What" is .the I+ e
steady=state vpltagc; acro o
capacitor and the time con
of the circuit?

9% 20 ke

t=0

‘ -
~10-uE - D kQ

(A) 20 V.and 0T s
(B) 20 V and 02 s
(C) 10 V and 01 s
For a parallel R-L-C resenant

Circuit, the damped frequency is
¥i2 r/s and bandwidth is 4 r/s.
What is its resonant frequency?

(A) 1r/s B) 2r/s

(C) 3r/s (D) 4 r/s
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